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Class — X Mathematics

Section - ‘A’

1. If the equation x? + 4x + k = 0 has real and distinct roots, then:

(@) k<4 (b) k > 4

(c) k=4 (d k<4
2. The 8" term from the end of the A.P. 7,10,13, ...,184 is:

(a) 163 (b) =163

(c) 152 (d) —152

3. The number of solid spheres, each of diameter 6¢cm that coulddéwmotildéd, todorm a solid metal
cylinder of height 45cm and diameter 4cm is:
(a) 3cm (b)4cm
(c) 5cm (d) 6ecm

4. Find the length of the tangent drawn from a point whose distance from the centre of the circle is 25cm.
If the radius of the circle is 7cm:
(a) 2cm (b) 16cm
(c) 24cm (d) 21cm

5. If TP and TQ are two tangents to ascirele with éentre O so that ZP0OQ = 110°, then £PTQ is equal to:
(a) 60° (b) 70°
(c) 80° (d) 90°

6. AB and CD are twé common tangents to circles which touch each other at C. If D lies on AB such that
CD = 4cm, than AB is.equal to:
(a) dem (b) 6cm
(c) 8cm (d) 12cm

7. "A'sphere of radius 6¢cmis dropped into a cylindrical vessel partly filled with water. The radius of the
vessel is 8cm. If the sphere is submerged completely, then the surface of the water rises by:
(a) 4.5cm (b) 3cm
(c) 4cm (d) 2cm

8. A solid is hemispherical at the bottom & conical above. If the surface areas of two parts are equal, then

the ratio of its radius & the height of its conical part is:
(a) 1:3 (b) 1:v/3
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(c) 1:1 (d)V3:1

The ratio of the length of a rod & its shadow is 1:4/3. The angle of elevation of the sum is:
(a) 30° (b) 45°

(c) 60° (d) 90°

From a well-shuffled pack of cards, a card is drawn at random. The probability of getting a black queen

is:

1 2
(a) %6 (b) ’E
11 1
(c) ' (d) ’

Section - ‘B’

If —5 is a root of the quadratic equation 2x* + px — 15[& 0 &the'guadratic equation
p(x? + x) + k = 0 has equal roots, find the value of k.

The 10" term of an Arithmetic Progression (A.P\)is 44 & its 15" term is64. Find the A.P.
If all the sides of a parallelogram touch a circle, prove thatjthe | |gm is a rhombus.

An umbrella has 8 ribs which are equally spaced

(Assuming umbrella to be a flat circle)of radius 45,.cm,

find the area between the two consecutivehibs of the umbrella.

A fez, the cap used by the Turkspis shaped like the
frustum of a cone If its r@dius'en the open side is

10 cm, radius at the"upper base is 4 cm and its

slant height is 15'em, find\the area of material

usedifor making'it

Determine the ratio in which the point (—6, a) divides the join of A(—3,—1) & B(—8,9). Also find
the valuejof a.

Prove that the points A(0,1), B(1,4),C(4,3) & D(3,0) are the vertices of square.

A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn at random from the box, find

the probability that it bears (i) a two-digit number (ii) a perfect square number (iii) a number divisible by 5.

Or

Find the probability of getting a head when a coin is tossed once. Also find the probability of getting a tail.
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Section - ‘C’

19. The sum of the squares of three consecutive positive integers is 50. Find the integers.
Or
A two-digit number is such that the product of its digits is 35. When 18 are added to the number,
the digits interchange their places. Find the number.
20. Find the number of terms of an A. P. : 54, 51, 48,..... So that their sumis 513.
21. Two circles touch internally at a point P & from a point T on the common tangent at)P, tangent

segments TQ, TR are drawn to the two circles. Prove that TQ = TR.

Or

PQ & PR are tangents to a circle with centre O. If LOPR = 80°, find £QOR:

22. Construct an isosceles triangle whose base is 8 cm and altitude 4 criand then another triangle whose sides

1,. L . .
are 1l Etlmes the corresponding sides of the isoscelesytriangle:

23. The area of an equilateral triangle ABC is 153205
cm?. With each vertex of the triangle ds,centre,a
circle is drawn with radius equal to half,thelength

of the side of the triangle Find the

area of the shaded regiom. (Use t=3.14 andv/3 = 1.73205)

<—30cnm»
24. Mayank'madeya bird-bath for his garden 9
in,the'shape ‘of a cylinder with a hemispherical
depfession at one end. The height of 1.45m

the eylinder is 1.45 m and its radius is 30 cm. Find the

toal surface area of the bird-bath

Or
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A copper rod of diameter 1 cm and length 8 cm is drawn into a wire of length 18 m of uniform thickness.
Find the thickness of the wire.

A person standing on the bank of a river observes that angle of elevation of the top of a tree
standing on the opposite bank is 60°. When he moves 40m away from the bank, he finds the angle
of elevation to be 30°. Find the height of the tree and the width of the river.

The co-ordinates of two vertices A & B of an AABC are (1,4) & (5,3) respectivelyhlf the co-
ordinates of the centroid of AABC are (3,3), find the co-ordinates of the third vertex,C.

Prove that (2,—2), (—2,1) & (5,2) are vertices of a right angled triangle. Find the area of the
triangle & the length of the hypotenuse.

A pair of dice is thrown once; find the probability:

1. of getting a total of 11.

2. of product of them is 6.

Section - ‘D’

A piece of cloth costs Rs. 200. If the piece were 5m lgnger & each meter of cloth costed Rs. 2 less,
the cost of piece would have remained unchanged. Hew leng aréthe piece & what its original rate
per meter is?

Or

The area of right angled triangle is 600sg.ém. Ifithe\base of the triangle exceeds the altitude by
10cm, find the dimensions of the triangle.

The sum of 3 nos. in A. P. is 27 and their product is 405. Find the nos.

A circle touches all the four sides of aquadrilateral ABCD whose sides are AB = 6cm, BC = 7cm and CD =
4cm. Find AD.

Water is flowing at the rate of 3km/hr through a circular pipe of 20c internal diameter into a circular
cistern of diameter 10mmanchdepth 2m. In how much time will the cistern be filled?

Or

The cost of painting the'total outside surface of a closed cylindrical oil tank 60p per sg. dm is Rs. 237.60.
The height,of'tank is'6 times the radius of the base of the tank. Find its volume.

500 persons took dip in a rectangular tank which is 80m long and 50m broad. What is the rise in the
level of water in the tank, if the average displacement of water by a person is 0.04m*?
Aymantstanding on the deck of the ship, which is 10m above water level, observes the angle of
elevation of the top of a hill as 60° & the angle of depression of the base of the hill as 30°. Find the
distance of the hill from the ship & the height of the hill.

get more MCQs of each chapter

Details are given below:
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the MCQ’S would be sent via email
u can call us on 9810817270, 9811091238 to get the MCQ’s
rates are negotiable
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Class IX - Mathematics Rate List

Chapter Cost of Cost of Sent via
Question solution
Bank key
Linear 80 Rs.600/— Rs.200/— E — matl
Equations in
Two
Variables
Quadrilateral 80 Rs.600/— Rs.200/— E — mail
S
Circles 80 Rs.600/— Rs.200/— E — mail
Construction 50 Rs.300/— Rs.150/— E — mail

Cost of Cost of

Question solution

Bank key
Areas of 80 Rs.600/— Rs.200/— E — mail
Parallelogram
s and
Triangles
Surface Areas 80 Rs.600/— Rs.200/— E — mail
and Volumes
Statistics 80 Rs.600/ " Rs5.J700/ E — mail
Probability 50 Rs.350/— Rs.150/— E — indil

For spiral binded Book-let (Math IX-Sem 2) with answer key, it costs
Rs. 5555/- only (Courier charges Extra)
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Class X - Mathematics Rate List

Chapter Cost of Cost of
Question solution
Bank key
Arithmetic 80 Rs.600/— Rs.200/— E — mall
Progression
Co-ordinate 50 Rs.400/— Rs.150/— E — mail
Geometry
Some 50 Rs.400/— Rs.150/— E— mail
applications
of
Trigonometry
Circles 80 Rs.600/— Rs.300/— E — mail

-

Chapter Cost of ' Cost of

Question solution

Bank Key
Construction 50 Rs.400/— Rs.150/— E — mail
Area of 50 Rs.400/— Rs. 150/ — E — mail
Carcles
Surface 80 Rs.600/— Rs. 200/ — E — mail
Areas and
Volumes
Statistics 80 + 40 Rs. 1000 Rs.500/— E — mail
and
Probability

For spiral binded Book-let (Math X-Sem 2) with answer key, it costs
Rs. 5555/- only (Courier charges Extra)
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Class IX - Science Rate List

Chapter ' No. of Cost of Cost of Sent via
MCQ’s Question solution
Bank key
Atoms and 120 Rs.950/— Rs.450/— E — mail
Molecules
Work and 50 Rs.400/— Rs. 150/ E — mail
Energy
Diversity in 120 Rs.950/— Rs.450/— E — mail
Living
Orgamsms
Structure of 80 Rs.600/— Rs.300/~— E — mail
the Atom

Chapter No. of | Cost of Cost of Sent via
MCQ’s | Question solution
Bank key

Sound 50 Rs.400/— Rs.200/— E — mail
Why do we 80 Rs.600/— Rs.300/— E — mail
Fall 11l

Natural 80 Rs.600/— Rs.300/— E — mail
Resources

For spiral binded Book-let (Science IX-Sem 2) with answer key, it costs
Rs. 6666/- only(Courier charges Extra)
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Class X - Science Rate List

Chapter 5 Cost of Cost of Sent via
Question solution
Bank
Carbon and 80 Rs.950/— @ Rs.450/— | E — mail |
Its
Compounds
Periodic 80 Rs.600/— Rs.300/— E — mail
Classification
ot Elements
How do 80 Rs.600/— Rs.300/— E — mail ‘
Organisms
Reproduce
Heredity and 80 Rs. 600/ W Rx, 500/ E — miail

Evolution

Cost of Cost of
Question solution
Bank key
Light- 160 Rs.1200/— Rs.500/— E — mail
Reflection
and
Refraction
Human Eve 50 Rs.400/— Rs.200/— E — mail
and the
Colourtul
World
Our 50 Rs.400/— Rs.200/— E — mail

Environment

For spiral binded Book-let (Science IX-Sem 2) with answer key, it costs

Rs. 6666/- only (Courier charges Extra)
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HOW to BUY?

How to get MCQ's at your Home :

Follow these easy steps -

Q) Sort the chapters from the Price-list given in slide-show .

(i) Sum-up the amount if you want booklet of a particular subject .

(iii) Courier and handling charges for booklet: Rs 300/- extra

(iv) Deposit the amount in your nearby branch of PUNJAB NATIONAL BANK by name of

Ashwani Gupta, A/c No. : 3061000100170447 , (Our Branchs Kl H. R."M® school, Ashok Vihar
Delhi-110052 ); write your name n place of depositor.
(v) Call / SMS your Name, Full Postal Address with Pin-Code WNo., email-id, Name of the Chapter,
amount deposited,
Your Mobile No. to us on mobile number +91 98108172703Se that the required sets could be
sent
to you via email within 24hrs..

Sample SMS :

Name : Ms. Rahul Sharma,

C/O Shri Alok Sharma,

Plot no. 237, C-Sector Indraprashta Delhi
PIN-462021.

Email- sharma.alok5@yahoo.in

Chapters :Probability, surface area
amount deposited :Rs. 3210/,

contact: +91 2751646, 9406543504.

* We send thesbook-letthrough Speed Post or Courier which normally takes 4 to 7 days to reach. For
urgent delivery through air (Within 24-48 Hrs.) Please contact us on +91-9810817270, 9811091238.
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